Mod. Que. Phy 059

Physics

Model Questions 2059

In the entrance examination only twenty-five questions will be asked out of the total included model questions.

1.
If height of man is 6 meter then minimum height of a plane mirror in which he can see his image is:

	(a)
	4.5 m
	(
	(b)
	6m
	(

	(c)
	3m
	(
	(d)
	2
	(


2.
Who discovered X-rays?

	(a)
	Faraday
	(
	(b)
	Roentgen
	(

	(c)
	Curie
	(
	(d)
	Becquerel
	(


3.
Volt/meter is the unit of:

	(a)
	Potential
	(
	(b)
	work
	(

	(c)
	Force
	(
	(d)
	Electric intensity
	(


4.
Which of the following is dimensionally correct?

	(a)
	Pressure = energy per unit area
	(
	(b)
	Pressure = energy per unit volume
	(

	(c)
	Pressure = force per unit volume
	(
	(d)
	Pressure = momentum per unit volume per unit time
	(


5.
What is the maximum number of components into which a vector can be split?

	(a)
	Two
	(
	(b)
	Three
	(

	(c)
	Four
	(
	(d)
	More than four
	(


6.
What happens when we multiply a vector by 2?

	(a)
	Direction reverses and unit changes
	(
	(b)
	Direction reverses and unit changes
	(

	(c)
	Direction remains uncharged but unit changes
	(
	(d)
	Neither direction reverses nor unit changes.  Only the magnitude is doubled
	(


7.
The velocity (v) of a particle is related to the time (t) elapsed as v =kt, where k = 4 ms-2.  What is the distance traveled in 2 seconds?

	(a)
	4 m
	(
	(b)
	8 m
	(

	(c)
	12 m
	(
	(d)
	16 m
	(


8.
Two trains, each 50 cm long are traveling in opposite direction with velocity 10 m/s and 15 m/s.  The time of crossing is:

	(a)
	2s
	(
	(b)
	10/3 s
	(

	(c)
	2
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	(
	(d)
	 4
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	(


9.
A rain drop of mass 0.1 g is falling with uniform speed of 10 cms-1.  What is the net force acting on the drop?

	(a)
	Zero
	(
	(b)
	x x 10-3 N
	(

	(c)
	103 N
	(
	(d)
	10-2 N
	(


10. Two balls collide at the same temperature which one of the following is conserved:

	(a)
	Velocity
	(
	(b)
	Momentum
	(

	(c)
	Kinetic energy
	(
	(d)
	All the above
	(


11.
If the kinetic energy of a body is increased by 300%, its momentum will increase by:

	(a)
	100%
	(
	(b)
	150%
	(

	(c)
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	(
	(d)
	175%
	(


12.
The mass of a car is 1200 kg.  When it is moving with a speed of 80 km/hour, its kinetic energy will be:

	(a)
	 3 x 108 Joule
	(
	(b)
	 2 x 105 Joule
	(

	(c)
	 3 x 105 Joule
	(
	(d)
	 4 x 105 Joule
	(


13.
The distances x 1 and x2 of two particles of masses m1 and m2 respectively from their center of mass bears a relation:

	(a)
	m1/m2 = x1/x2
	(
	(b)
	 m1/m2 = x2/x1
	(

	(c)
	 m1/m2 > x1/x2
	(
	(d)
	 m1 2/m2 2= x1/x2
	(


14.
A wheel of mass 6 kg and radius 40 cm is revolving at the rate of 300 revolutions per minute.  Its moment of inertia will be:

	(a)
	0.92 kg x m2
	(
	(b)
	 0.96 kg x m2
	(

	(c)
	2.4 kg x m2
	(
	(d)
	 2.98 kg x m2
	(


15.
A liquid boils at a temperature at which the pressure of air on its surface is:

	(a)
	Equal to vapour pressure
	(
	(b)
	Less than the vapour pressure
	(

	(c)
	More than the atmosphere
	(
	(d)
	Equal to 760 mm of Hg 
	(


16.
Gas thermometers are more sensitive than the liquid thermometers because the gases:

	(a)
	are lighter
	(
	(b)
	have low specific heat
	(

	(c)
	have high specific heat
	(
	(d)
	have large co-efficient of expansion
	(


17.
Cloudy nights are usually warmer, because clouds:

	(a)
	donot absorb heat
	(
	(b)
	donot radiate heat
	(

	(c)
	have low thermal conductivity
	(
	(d)
	have high thermal conductivity 
	(


18.
Morning sun is not as hot as the mid day sun because:

	(a)
	The sun is cooler in the morning
	(
	(b)
	Earth is farther away in the morning
	(

	(c)
	Sun rays have to travel longer in the morning than at mid-day
	(
	(d)
	 Of some reason other than those given above
	(


19.
The approximate location of earthquakes can be determined by:

	(a)
	Seismograph
	(
	(b)
	Spectrometer
	(

	(c)
	Television
	(
	(d)
	Sonar
	(


20. Stationary waves are called stationary because in them:

	(a)
	Every thing remains at rest
	(
	(b)
	The particles of the medium are not disturbed at all
	(

	(c)
	The particles of the medium are only slightly disturbed
	(
	(d)
	There occurs no flow of energy along the waves
	(



21. If  the positive charge is shifted from a low-potential region, to a high-potential region, the electric potential energy:

	(a)
	 Increases
	(
	(b)
	Decreases
	(

	(c)
	Remains the same
	(
	(d)
	May increase or decrease
	(


22. Capacitor connected in series have:

	(a)
	 Same difference of potential across each capacitor
	(
	(b)
	Numerically the same charge on each plate of all capacitors
	(

	(c)
	C = C1  + C2 + C3
	(
	(d)
	None of the above
	(


23. Tungsten obeys Ohm's law because:

	(a)
	The wire becomes hot when current flows
	(
	(b)
	The current is carried by electrons
	(

	(c)
	The resistance is proportional to temperature
	(
	(d)
	The current is proportional to p.d. at constant temperature
	(


24.
A certain wire has a resistance R.  The resistance of another wire identical with the first except having twice its diameter is:

	(a)
	2R
	(
	(b)
	0.25 R
	(

	(c)
	 4 R
	(
	(d)
	0.1020(
	(


25. The carriers of electricity in solids are:

	(a)
	Electrons
	(
	(b)
	+ ve ions
	(

	(c)
	-ve ions
	(
	(d)
	Protons
	(


26. Active materials of a lead-acid cell are:

	(a)
	Lead peroxide
	(
	(b)
	Sponge lead
	(

	(c)
	Dilute sulphuric acid
	(
	(d)
	All of the above
	(


27.
One ampere is equal to:

	(a)
	10 emu of current
	(
	(b)
	1 emu of current
	(

	(c)
	1/10 emu of current
	(
	(d)
	1/100 emu of current
	(


28.
The magnetic field inside a toroidal solenoid of radius R is B.  If the current through it is doubled and its radius is also doubled keeping the number of turns per unit length the same magnetic field produced by it will be:

	(a)
	 4B
	(
	(b)
	2B
	(

	(c)
	B/2
	(
	(d)
	B/4
	(


29.
Magnetic field is measured by a:

	(a)
	Thermopile
	(
	(b)
	Fluxmeter
	(

	(c)
	Pyrometer
	(
	(d)
	thermometer
	(


30. The vertical component of earth's magnetic field is zero at: 

Or

The earth's magnetic field always has a vertical component except at the 

	(a)
	Magnetic ples
	(
	(b)
	Geographical poles
	(

	(c)
	Every place
	(
	(d)
	Magnetic meridian
	(


31. A magnetic field has no effect on:

	(a)
	Stationary magnets
	(
	(b)
	Moving magnets
	(

	(c)
	Stationary charges
	(
	(d)
	Charges in motion
	(


32. A compass needle which is allowed to move in a horizontal plane is taken to a geomagnetic pole. It :

	(a)
	Will stay in north-sough direction only
	(
	(b)
	Will stay in east-west direction only
	(

	(c)
	Will become rigid showing no movement
	(
	(d)
	Will stay in any position
	(


33.
Lines of force due to earth's horizontal magnetic field are:

	(a)
	Parallel straight
	(
	(b)
	Concentric circles
	(

	(c)
	Elliptical
	(
	(d)
	Curved lines
	(


34.A step up transformer is used on 120 volt line to provide a potential difference of 2400 V.  If the primary coil has 75 turns, the number of turns in the secondary coil is:

	(a)
	 150
	(
	(b)
	1200
	(

	(c)
	1500
	(
	(d)
	1575
	(


35. In D.C. motors, induced emf will be maximum:

	(a)
	When motors, takes maximum speed
	(
	(b)
	When motor starts rotation
	(

	(c)
	When speed of motor increases
	(
	(d)
	When motor is switched off
	(


36. If a current of 5 Amp. flowing in a coil of inductance 0.1 H is reversed in 10 ms, e.m.f. induced in it is ………. volt.

	(a)
	100
	(
	(b)
	50
	(

	(c)
	1
	(
	(d)
	10,000
	(


37.SI unit of induced e.m.f. is:

	(a)
	Ohm
	(
	(b)
	Volt
	(

	(c)
	Ampere
	(
	(d)
	henry
	(


38. If a current of 10A flows through a wire for 2 seconds, then the charge on it, it:

	(a)
	5 coulomb
	(
	(b)
	20 coulomb
	(

	(c)
	40 coulomb
	(
	(d)
	0.2 coulomb
	(


39. In an AC circuit, power is consumed in:

	(a)
	Resistance
	(
	(b)
	Inductance
	(

	(c)
	Capacitor
	(
	(d)
	Inductance and capacitor
	(


40. Focal length of a convex lens depends upon:

	(a)
	Frequency of light ray
	(
	(b)
	Wavelength of light ray
	(

	(c)
	Both (a) and (b)
	(
	(d)
	None of these
	(


41. Critical angle will be minimum when ray passes from:

	(a)
	Air to glass
	(
	(b)
	Glass to air
	(

	(c)
	Glass to water
	(
	(d)
	Water to glass
	(


42. When light enters from air to water, then its:

	(a)
	Frequency increases and speed decreases
	(
	(b)
	Frequency is same but the wavelength is smaller in water than in air
	(

	(c)
	Frequency is same but wave-length in water is greater than air
	(
	(d)
	Frequency decreases and wavelength is smaller in water than in air
	(


43. Light travels in straight line because:

	(a)
	It is not absorbed by atmosphere
	(
	(b)
	Its velocity is very high
	(

	(c)
	Diffraction effect is negligible
	(
	(d)
	None of these
	(


44. The wavelength of light visible to eye is of the order of:

	(a)
	10-2 m
	(
	(b)
	20-10 m
	(

	(c)
	1 m
	(
	(d)
	6 x 10-7 m
	(


45. For a prism the angle of minimum deviation is directly proportional to:

	(a)
	Wavelength of light used
	(
	(b)
	Refractive index of prism material
	(

	(c)
	Size of the prism
	(
	(d)
	Frequency of light used
	(


46. A rectangular tank of depth 8 metre is full of water (( = 4/3), the bottom is seen at the depth:

	(a)
	6 m
	(
	(b)
	8/3 m
	(

	(c)
	8 cm
	(
	(d)
	10 cm
	(


47. Two convex lenses of f1 = 0.3 m and f2 = 0.05 m are used to make a telescope.  The distance kept between them is equal to:

	(a)
	0.35 m
	(
	(b)
	0.25 m
	(

	(c)
	0.175 m
	(
	(d)
	0.15 m
	(


48. To get a high resolving power for a telescope one should use:

	(a)
	Larger aperture objective 
	(
	(b)
	 Larger aperture eyepiece
	(

	(c)
	A smaller aperture objective
	(
	(d)
	Objective made of single lens
	(


49. A person wears glasses of power –2.5D.  The defect of the eye and the far point of the person without the glasses are, respectively:

	(a)
	Far sightedness 40 cm
	(
	(b)
	Near sightedness, 40 cm
	(

	(c)
	Astigmation, 40 cm
	(
	(d)
	Near sightedness 250 cm
	(


50. Which of the following statements is not true:

	(a)
	The far point is the maximum distance for which, the image is at the focus of the retina of an object
	(
	(b)
	The near point is the minimum distance for which, if the object is situated at a lesser distance, the image will not be focused at retina
	(

	(c)
	For a person of normal vision, the far point is at infinity 
	(
	(d)
	In myopia, the near objects are not clearly visible
	(


51.
In an astronomical telescope, the final image for normal vision is formed at:

	(a)
	The least distance of distinct vision
	(
	(b)
	The focus of the objective lens
	(

	(c)
	The focus of the eye lens
	(
	(d)
	Infinity
	(


52.
A reflecting telescope utilizes:

	(a)
	A concave mirror
	(
	(b)
	 A convex mirror
	(

	(c)
	A prism
	(
	(d)
	A plano-convex lens
	(


53. To use a transistor as an amplifier:

	(a)
	The emitter base junction is forward biased and the base collector junction is reverse biased
	(
	(b)
	No bias voltages are required
	(

	(c)
	Both junctions are forward biased
	(
	(d)
	Both junctions are reverse biased
	(


54. Which of the following statement is worng
	(a)
	Resistance of a semiconductor decreases on increasing the temperature
	(
	(b)
	Displacement of holes is opposite to the displacement of electrons in an electric field
	(

	(c)
	Resistance of good conductor decreases on increasing the temperature
	(
	(d)
	n-type of semi-conductors are neutral
	(


55.Which of the following is not a unit of length?

	(a)
	Micron
	(
	(b)
	angstrom
	(

	(c)
	light year
	(
	(d)
	radian
	(


56.Which of the following is not regarded as a fundamental unit in Physics?

	(a)
	Length
	(
	(b)
	time
	(

	(c)
	force
	(
	(d)
	mass
	(


57.
Newton's first law of motion gives the concept of ….

	(a)
	energy
	(
	(b)
	work
	(

	(c)
	inertia
	(
	(d)
	force
	(


58.
A body of mass 10 gms has a velocity of 5 cm/sec, its kinetic energy will be

	(a)
	 25 ergs
	(
	(b)
	 1.25 x 102 ergs
	(

	(c)
	 15 x 10-7 joule
	(
	(d)
	 250 ergs
	(


59.
Momentum of a body is defined as

	(a)
	 mass x acceleration
	(
	(b)
	mass x velocity 
	(

	(c)
	 mass/velocity
	(
	(d)
	mass/acceleration 
	(


60.
From equator to poles, the value of G

	(a)
	 decreases
	(
	(b)
	 increases
	(

	(c)
	 remained unchanged
	(
	(d)
	 first increases and then decreases
	(


61.
The maximum density of water is at

	(a)
	 40C
	(
	(b)
	60C 
	(

	(c)
	 80C
	(
	(d)
	 100C
	(


62.
Heat is transmitted by

	(a)
	 conduction
	(
	(b)
	 convection
	(

	(c)
	 radiation
	(
	(d)
	 all
	(


63.
Which formula is incorrect

	(a)
	 S = ut + ½ a2t
	(
	(b)
	S = ut + ½ at2 
	(

	(c)
	 H = ms(
	(
	(d)
	 
V = u + at
	(



64. What is the minimum and maximum range of a clinical thermometer

	(a)
	 700C – 1040C
	(
	(b)
	 350C - 420
	(

	(c)
	 900C – 1120C
	(
	(d)
	 600C – 800C
	(


65. At what condition convex lens produces a virtual and erect image

a. When object is placed at F


b. When object is placed in between F & the lens

c. When object is placed beyond F


66.
A dynamo:

	(a)
	 Creates mechanical energy
	(
	(b)
	Converts mechanical to electrical energy
	(

	(c)
	 Creates electrical energy
	(
	(d)
	Converts electrical to mechanical energy
	(


67.Which of the following relation is correct

	(a)
	 C = v x (
	(
	(b)
	c = v/( 
	(

	(c)
	 c = v
	(
	(d)
	c =(/v 
	(




 (c is velocity of light; v is frequency and ( is wavelength)

68. Which of the following is poor conductor of electricity

	(a)
	 copper
	(
	(b)
	 silver
	(

	(c)
	 aluminum
	(
	(d)
	 silicon
	(


69. Barometer is used to measure

	(a)
	 temperature
	(
	(b)
	volume 
	(

	(c)
	 density
	(
	(d)
	atmospheric pressure 
	(


70.A vector has

	(a)
	 only direction
	(
	(b)
	only magnitude 
	(

	(c)
	 both magnitude and direction  
	(
	(d)
	Neither magnitude nor direction 
	(


71. If car covers 100 m in 5 seconds is its average velocity will be

	(a)
	 20 m/s
	(
	(b)
	25 m/s 
	(

	(c)
	 100 m/s
	(
	(d)
	10 m/s 
	(


72. Newton's second law of motion gives the measure of

	(a)
	 force
	(
	(b)
	work 
	(

	(c)
	 acceleration
	(
	(d)
	 
mass
	(


73. If mass of an astronaut on earth is 60 kg his mass on the moon will be

	(a)
	 102 N
	(
	(b)
	 100 N
	(

	(c)
	 10 kg
	(
	(d)
	 60 kg
	(


74.Velocity of light in vacuum is

	(a)
	 3 x 1010 m/sec
	(
	(b)
	 3 x 108 m/sec
	(

	(c)
	8 x 108 m/sec 
	(
	(d)
	 15 x 1010 m/sec
	(


75. If an object is placed at the center of curvature of a concave mirror the image is

	(a)
	 magnified
	(
	(b)
	 diminished
	(

	(c)
	of the same size as an object
	(
	(d)
	 virtual
	(


76.Power of lens is measured in

	(a)
	 meters
	(
	(b)
	 dioptres
	(

	(c)
	 light year
	(
	(d)
	 angstrom
	(



77. Wave length of sound of frequency 100 H2 and velocity 340 m/S will be

	(a)
	 3.4 m
	(
	(b)
	 34 m
	(

	(c)
	 0.34 m
	(
	(d)
	 0.034 m
	(


78.A man travels from place A to B with a speed of 6 km / h and returns with a speed of 3 km/h.  The average speed of the mans is ..

	(a)
	 4.5 km/h
	(
	(b)
	 4km/h
	(

	(c)
	 3 km/h
	(
	(d)
	 zero
	(


79. The numerical ratio of average velocity to average speed is …

	(a)
	 always less than one
	(
	(b)
	 always equal to one
	(

	(c)
	 always more than one
	(
	(d)
	 equal to or less than one
	(


80.The action and reaction forces referred to in Newton's third law of motion.

a.
Must act on same body


b.
Must act on different bodies

c. Need not be equal in magnitude but must have the same line of action

d. must be equal in magnitude but need not have the same line of action

81.
A body of mass one kg has a kinetic energy of one joule when its speed is …

	(a)
	 1 ms-1
	(
	(b)
	 4ms-1
	(

	(c)
	1.414 ms-1 
	(
	(d)
	 9.8 ms-1
	(


82. Tape recorder records the sound in the form of

	(a)
	 electrical energy
	(
	(b)
	 magnetic field on the tape
	(

	(c)
	 variable resistance on the tape
	(
	(d)
	 sound wave held on the tape
	(


83.
A difference of temperature of 250 C is equivalent to difference of …

	(a)
	 45 F
	(
	(b)
	 72 F
	(

	(c)
	 32 F
	(
	(d)
	 25 F
	(


84. In a pressure cooker, the cooking is fast, because….

a. the boiling point of water is increased by the increase pressure inside the cooker

b. The boiling point of water is lowered by pressure

c. More steam is available to cook the food at 1000C.

d. More pressure is a

85. In a ordinary dry cell, the electrolyte is

	(a)
	 zinc
	(
	(b)
	 sulphuric acid
	(

	(c)
	 ammonium chloride
	(
	(d)
	manganese oxide 
	(


86.When electric current is passed through a conductor, it is heated because

a. current gives heat to the conductor

b. electric energy is converted into heat energy

c. vibrational motion of molecules increase

d. heat carried by current

87. At the center of the bar magnet, magnetism is

	(a)
	 a maximum
	(
	(b)
	 minimum
	(

	(c)
	 zero
	(
	(d)
	 two times that on pole
	(


88.
.At magnet looses magnetic properties when

	(a)
	 dipped in oil
	(
	(b)
	 brought near a piece of iron
	(

	(c)
	 heated above curie temp
	(
	(d)
	 dipped into water
	(


89.The sure test of magnetism is

	(a)
	 attraction
	(
	(b)
	brought near a piece of iron 
	(

	(c)
	 induction
	(
	(d)
	 attraction and repulsion
	(


***

90. Which of the following is NOT the branch of physics?

	(a)
	Mechanics
	(
	(b)
	Statistics
	(

	(c)
	Dynamics
	(
	(d)
	Optics
	(


91. Who discovered the principle of inertia?

	(a)
	Galoleo
	(
	(b)
	Newton
	(

	(c)
	Tycho Brahe
	(
	(d)
	Kepler
	(


92. Light year is a unit of :

	(a)
	Measuring of speed of light
	(
	(b)
	Measuring time
	(

	(c)
	Measuring distance
	(
	(d)
	Measuring intensity of source.
	(


93. Which one is the correct unit for measuring nuclear radii?

	(a)
	Fermi
	(
	(b)
	Angstrom
	(

	(c)
	Micron
	(
	(d)
	Nanometer
	(


94. Unit of energy in S.I. system is :

	(a)
	Erg
	(
	(b)
	Calorie
	(

	(c)
	Joule
	(
	(d)
	Electron volt
	(


95. A car is taking a turn on a level road. It may be thrown outwards because of the :

	(a)
	Weight
	(
	(b)
	Lack of centripetal force
	(

	(c)
	Reaction of the ground
	(
	(d)
	Frictional force
	(


96. The rate of change of momentum is measured in :

	(a)
	Kg ms-2 
	(
	(b)
	Kgms-1
	(

	(c)
	Kgm
	(
	(d)
	Kg
	(


97. Critical angle will be minimum when ray passes from :

	(a)
	Air to glass
	(
	(b)
	Glass to air
	(

	(c)
	Glass to water
	(
	(d)
	Water to glass
	(


98. Focal length of a convex lens will be maximum for :

	(a)
	Blue light
	(
	(b)
	Yellow light
	(

	(c)
	Green light
	(
	(d)
	Red light
	(


99. Microscope is an optical instrument which :

	(a)
	Enlarges the object
	(
	(b)
	Increases the visual angle formed by the object at the eye
	(

	(c)
	Decreases the visual angle formed by the object at the eye
	(
	(d)
	Brings the object nearer
	(


100. Electron was discovered by :

	(a)
	Rutherford
	(
	(b)
	Davisson and Germen
	(

	(c)
	J.J. Thomson
	(
	(d)
	Millikan
	(


101. Age of tree is determined using radioisotope of :

	(a)
	Carbon
	(
	(b)
	Cobalt
	(

	(c)
	Iodine
	(
	(d)
	Phosphorous
	(


102. ( – rays are :

	(a)
	Gas atoms
	(
	(b)
	Helium nuclei
	(

	(c)
	Singly ionised atoms
	(
	(d)
	Ionised hydrogen atom
	(


103. The most commonly used material for making a transistor is :

	(a)
	Copper
	(
	(b)
	Silicon
	(

	(c)
	Ebonite
	(
	(d)
	Silver
	(


104. An example of a semi-conductor is :

	(a)
	Platinum
	(
	(b)
	Germanium
	(

	(c)
	Quartz
	(
	(d)
	Mica
	(
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